veuly Weldinaeuy atteliby
Va e &t

G 7

PART
ITEM PART DESCRIPTION PRICE ITEM CODE DESCRIPTION PRICE
CODE

14 CABLE CONNECTOR REAR
1 MP5002 NOZZLE S3 500A TGN00004

15 SWP-01 CONTROL LEAD PLUG/ PLUG 2PINS PANA.

2 MP5004 INSULATOR/ORIFIC
NUT 9/16-18" UNF

MPCT08 CONTACT TIP 0.8MM. M6x45 TET00841 17 GAS INLET ADAPTOR ASSEMBLE
MPCTO09 CONTACT TIP 0.9MM. M6x45 TET00958
MPCT10 CONTACT TIP 1.0MM. M6x45 TET01054 19 NUT 9/16-18”" UNF
MPCT12 CONTACT TIP 1.2MM. M6x45 TET01266
MPCT14 CONTACT TIP 1.4MM. M6x45

MPCT16 CONTACT TIP 1.6MM. M6x45 MCLPN2 CONDUIT LINER 0.8-1.0MM. 3.5m
MPCT08X CONTACT TIP 0.8MM. M6x40 CuCrZr MCLPN4 CONDUIT LINER 1.2-1.6MM. 3.5m
MPCTO9X CONTACT TIP 0.9MM. M6x40 CuCrZr MCLPN* CONDUIT LINER 1.2-1.6MM. 4.5m/5m/6m
MPCT10X CONTACT TIP 1.0MM. M6x40 CuCrZr MCLPNT TEFLON LINER 1.2-1.6MM. 15FT.
MPCT12X CONTACT TIP 1.2MM. M6x40 CuCrZr

18 CABLE SUPPORT MACHINE SIDE/BACK HANDLE

N/S MP5W3P MIG WELDING TORCH 3M.-Panasonic End

MIG Welding Replacement Parts

& i AT [NSULALONEUEREZE0(07 MP5W3B | MIG WELDING TORCH 3M.-Euro End
TIP BODY 500A E-CU MP5W3M MIG WELDING TORCH 3M.-Miller End
9 RS008 TIP BODY 500A COPPER
MP5W*P MIG WELDING TORCH 4M/5M/6M-Panasonic End
6 MP5001 TORCH BODY 500A MP5W*B MIG WELDING TORCH 4M/5M/6M-Euro End
MP5W*M MIG WELDING TORCH 4M/5M/6M-Miller End
7 FRONT HANDLE MIG 500A PANA
OTHER
8 SWM-01 MICRO SWITCH MIG THLO0003 PANA MPRLO02 ROLLER 0.8-0.8MM.
MPRLO4 ROLLER 0.8-0.9MM.
9 SWAN NECK HOLDER
MPRLO1 ROLLER 0.8-1.0MM.
10 CLAMP MPRLO9 ROLLER 0.9-0.9MM.
11 FRONT CABLE SUPPORT MPRL05 ROLLER 0.9-1.2MM.
MPRLO06 ROLLER 1.2-1.2MM.
12 CABLE ASSEMBLY 3m/4m/5m
MPRLO3 ROLLER 1.2-1.6MM.
13 BACK CABLE SUPPORT MACHINE SIDE MPRLO7 ROLLER 1.6-1.6MM.

Copyright 2003 ; Craft Skill Co.,Ltd. Tel.+66 2 894 1750 (AUTO) Fax.+66 2 894 1788 WWW.Craft-Skill.com



